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Problem #2: (50%)
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1- Draw a FBD (8%)






2- Compute Cable EC force (14%)
∑ M about B = 0, 

10*sqrt(2) * T – F*20 = 0
 T = 200 sqrt(2) = 282N
3- Compute Reactions at E and B (magnitude and direction) (14%)

Reaction at E: Re = T = 282N          along T
Reaction at B: Optimum equation ∑ M about G = 0, still we can use:
∑ Fy = 0,

V - F + T*sqrt(2)/2 = 0

V = 200-200*2/2 = 0
4- Compute spring AB force and deformation (indicate tension or compression, elongation or shortening) assuming spring stiffness K=200 N/cm (14%): Optimum equation ∑ M about H = 0, still we can use:
∑ Fx = 0,
-Ts – T * sqrt(2)/2 = 0

Ts = -200N = 200N compression

Δ = 200/200 cm = 1cm shortening
F = 200N
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